2022 ($F14) FE | _poadirEAst

wE BEM

fIRE 1 [%1047]
20 +y)?+ (x—-3) (y+3)
=2x%+4xy +2y*+xy +3x =3y —9 1 2y+3 —* 4y +6
=2x2+bxy +2y2+3x -3y —9 2 y—3 — y—3
=2x2+ (5y+3)x + 2y +3) (y —3) Py
=(x+2y+3)2x+y-3)
(51)%)
[1]
A=x-3, B=y+3 Bk
x+y=A+B7:DT,
2(x+y)*+ (x=3) (y +3) =2(A+ B)*+ AB
=2A%+5AB+2B*
=(A+2B) 2A+B)
=(x+2y+3)Q2x+y-3)
g g (x+2y +3) 2x +y —3)
T =8 /NS WEIZIERS &
-4 -3 -1 0 0 2
i " =05
[2] _ _ _
T 4+0 16+2 3+0 I
N1 %%(—4+1)2+(0+1>2+(—1+1)2+<2+1)2+(—3+1>2+(O+1>2}=4
TR V4 =2
HOUE—05 “PIgME—1 FRAERAE 2

— 122 —



2022 (4H14) FE | _p PBHEAR

[3]

WA DOEEEcEHE S5 &

w B OEEUE (20— x) 18

WAL BEEGHOELESIE 19v+35(20-x) kg
ZDEEH 500kg A RV OIIE

19x +35(20 — x) =500

~16x = — 200

200 25
=20 _ 2 _
=6 2 g

IR DOT x=13

131 P11
(1) x=+v2-1
R 1
x+7—ﬁ 1+ 77 ~1
S gy Y2
2_
=2V2
2V2
[4]
(2) w244 = (x+)2-2
X X
=(2V2)2-2
=6
6

— 123 —




2022 (v#f14) & E

FNRREAR

—iRARABE [2BE]

f]RE 2 (1164 (218K [3]164
D OREEE ( sind cosf )
[1] M F O ( —sinf cosf )
MH O JERE ( —cosf sinf )
y
A\
OA=cosf, AB=sinf &9 .
2 D
[ JOACE =cos?6 E ¢
AOABzLSiHQ cost
2 B
AODE = Lsin@ cost
[2] 2 ;
/BOD=90°-20 &V 7 > X
O A
— 90-20 45— 0
b ; = 2. . =
FIZOBD=1%"- & 360 180 T
Lo T
S =cos?# —sinb cosl — -0 45— 0
180 S =co0s*¢ —sinf cosf —
180
V3
9 - =
cos 5
0=0<45° L g =30°
c0s30° = E sin30° = | DT
2 2
[3] (2] &9
. ) 45-30
— 2 o __ o o_ AJ JIY
S =cos? 30° —sin30° cos30 180 T
_3 43 157
4 4 180
_9-33 —n 9-3V3 — 1
12 12

— 124




2022 (4H14) FE | _p PBHEAR

M 3 [1][2]% 64 [3] 8

y=x%+2ax +2a*—2a
=(x+a)?*+a’-2a

[1]

x=—aDt X WM a?-2a% L HDT

m=a’*—2a

m=a’—-2a
y
y=x2ax+2a*—2a OV 7 7L IO DT,
m=00 & %, x#EhEILHFLEED DO, /
(1] &0
[2] x
a’-2a =0
ala—2)=0
0=a¢=2
0=a=2
m
A
m=a’-2a
= (g —1)2— @) 1 2
=(a-1)?%-1 : > 4
[3] ;
0=a=212BF2777kY B

a=10kLE|ZHR/NIRY, wAME -1

a=0, 20 EZH{KICHY, KAHE O

a=10& & w/ME -1
a=0, 20 EAME 0

— 126 —



2022 (v#f14) & E

FHEFEAS
—iAstABE [2HA]

M4 < 1 > BRULEBESZESZL

[1][2]1%54 [3]1104

B 9k FH HO4O0FEEERLEDT,

[1]
41 =24 @D)
2438 1)
HHERFIZOWT, HEESEEE E—HTL2HDIFT4BYHLHDT
2
21024 o )
4
638 1)
(i) ADEF LY ICHERBERICKEIEI2OAS & X
Zooko®EY) C,=3 GED)
2ok Gt ibF %+=m<ﬁb>
(3] EoT3x12=36 (i)
(i) HDOETHLYICHERBEKIRFEEN LI DOASL & &
(1] &h24 Gab)
(i) (i) &b
36+24=60 (@)
6038 1
FoR

— 126 —




2022 (4H14) FE | _p PBHEAR

M4 < 2 > BRULIEBESEZESZL [1][2]%64 [3]8K

OS50 BIZFLAEHROREHET S,
A FZAOHBIZ R4 DT C

[1]1| 00 =3+1=4, OH=3-1=2 &7V

OH= Y42-922 = 92J3  ceeneen @

@®, @&

AB=2V3 o JT

E, O, OWE—#FizH 5,
OO0 :OH:OH=2:1: V3 %#®OT 0

Z0'0H=30°

AO'OHAAOEBZ DT
2] Z0'EB=2Z0"0OH=30° D
AOEB=A0ED%DT

Z0ED=Z0EB

/BED=/OEB+ /OED=2/0EB=60° 60"

OB _ © p_ 1
e tan30°, OB=3 X1 c

3
EB=
tan30°

=3V3

[3] | %72 DE=BE=3V3

AEDB= * BE + DE - sin60°

(3v3)e 22

_ 213
4 3

F o=

— 127 —




2022 ($F14) FE | _poadirEAst

RFE T
PR 1 [4 3 2% 10]
A B C E
2 1 4 3
F G H J
3 1 4 1
P8 2 (%3 8x 7]
K L M 0
4 2 1 1
P Q
4 2
PiRE3 [% 3 2% 3]
R S
2 MEAHEL TV
=
1

— 128 —



2022 (vf14) & F

FHEFEAR
—RARABE [28H]

felRE 4 [U~Y %64, Z 104]

U

2

\Y

2
W

20154 RF D FLRR 1) £

X

JRFII5EI A MIRBEYEIE INL - EA L TETW 5,

Y
4
z
K|k || % |& o | K| B | & | & B H & &3 561
ml&®E|L | T |#& ] O 5 M| b & A5 || T K| b
¥ & |2 | A | M |E|S |5 ||| B Bl 2| & 5 M
KB lw | T |\ T | & |5 & F B35,

— 129 —

R




2022

(f#4) £E

FNRREAR
—BARABRE [26A]

EFE FAEW

fei 1 [%25x5]
(a) (b) (c) (d) (e)
RPE RE Yk — Kk TEPE
fEIRE 2 (&2 %X 5]
(f) (g) (h) (i) (i)
[P NS n 7o AVHIN 72 ¢ NAH XD
i 3 [5 ]
2
PEE 4
[1044]
5 10 15
Tk N - xF L T 2 ity K 1% = v s e %
20 25 30
JE 15 Kl 5 Iz s ] S L 7z o
fElRE 5 [105] [se4IEE]
(7) (1) (77)
Lol TIN"5H e
B 6 [104]

[ ], [k ). TR, [EAER] [MEARNEMRZE] Ohrs = 2%% 5,

[101]

— 130 —



2022 (vf14) & F

FHEFEAR
—RARABE [28H]

fElRE 8 [15.5]
5 10 15
SUNEEENE | S| 53 Al AN L FE D FE Iz 3 & S 0w 72
20 2% 30
H H E #* VAN 2 H & n % £ 9 1z 7 -
35 40 5
7z VAN 5 o
50
I8 9 [5 ]
H H x| %
RE10 [15]
5 10 15
£ H L 0 H o 12 b & 5w R DR W
20 25 30
T
=

— 131 —




	表1
	目次～入試問題
	解答～概要
	表4

